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Section Number : 1
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Number of Questions : 42
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Section Marks : 100

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 517144453
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 51714411111 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does "learning environment" refer to in the context of education?
3)::505:60650%)@6’5 "egfiRod ararddessin” ede 33

Options :

The physical location of an institution.
éog F8E 408

1. ®
The number of students in a classroom.
) % S8K885 Sjcsfgtfgen 2H08)
The arrangement of furniture in a classroom.
S5KaS° PB)SE @b
3. %
The overall context in which learning takes place.
4 SERm 280 Sndsdn R08)am

Question Number : 2 Question Id : 51714411112 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Postgraduate education falls under which level of teaching?
FnESEE Disg @ HOE ﬁ;oméﬁ S0ENoH

Options :
Elementary education

. BrEEE

Secondary education
&Dgé?ddt’n e,

Tertiary education
_— é@@dﬁ} DEg



Vocational education
L% E{Sﬁ 33655

Question Number : 3 Question Id : 51714411113 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In offline teaching, where do most interactions between students and the
instructor occur?

=588 &Esst, &m‘ﬁgﬁﬁje_} Frste sotly BEHE Sgen esthHid é@o
Options :

Virtual discussion boards
E(:»é{}ff;ﬁ 'BSU‘:;'I ﬂsc‘b&w

Online chat rooms
5 u 808 7785 Kthen

Social media platforms
RNV VAV S6%en

3. %

Face-to-face in the classroom

A SBK8 KOS° Snge Snd

Question Number : 4 Question Id : 51714411114 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary focus of SWAYAM Prabha ?
090 (B BwE) (FHDE G 9?

Options :

Offering degree programs online.

| ® =S8568° &1f seSyEdwe HSED

Providing paid specialized courses.
, » B00DP [esE E°8nen HumEn Dok

Broadcasting educational content through TV channels.

- 83 ) oooe Doy AP IR0 Soknes



Conducting in-person workshops and seminars.
Sxohorr Stparapen, HSknen JbErohe

4.%

Question Number : 5 Question Id : 51714411115 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Online quizzes, interactive simulations, and virtual labs are examples of:
=588 [HEen, DY wibsbnm, SENBS [HarKToen O sorirde

Options :

Traditional teaching methods
Frolmrahd Sisae SGen

1. ®

ICT-based assessment tools

- ICT- eaeBeé 50H03) HVH5wen

Qutdated educational technologies
; & S00308% Doy FoBBESen

MNon-interactive resources
HEVSE HdSen

4% o

Question Number : 6 Question Id : 51714411116 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Experimental research involves:
[DairredE 5885 b

Options :

Observing and describing phenomena without intervening
éﬁéego Sost%ome &8 dhosre 5b8es D55,

1. ®

Manipulating variables to establish cause-and-effect relationships
o8 (3grd Jomogredh 2osRobohe Jerodeid 5’)}0-:‘5103. Dcsoes

Conducting surveys and interviews to gather opinions
odarah DESHS éﬁé@a, zoétrgen Aerohey

Analyzing historical documents and records
4% TOErgE dEre, bsehe DA%



Question Number : 7 Question Id : 51714411117 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Post-positivism in research suggests that:
58885568 S5 aradded SrdoHide

Options :

Objective truths can be directly accessed without the influence of human
perception.

| ® RpBarsd Derein,irdd (o 48 Bowe (B&gEore 366615@,263.

Subjective experiences play no role in shaping research outcomes.

- 58850 D= 5355}%@3&66’5 HEars wgire akld Golith

While objective observation is important, researchers' interpretations also
matter.

o, R Ears $588e% snggais, HBELHD DHBmen K e Birarom.
3.

Research should solely rely on abstract theories rather than empirical
evidence.
56855% ChEATaY e %ﬁ%é})@_} SE06°, Dolliar ?;}m(;oav@?.g = vtel

4 % esprS ).

Question Number : 8 Question Id : 51714411118 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In academic writing, plagiarism refers to:
ey LoWoL SSHed® pecirbao wdr

Options :

Using too many references in a paper

a8 avgﬁénéﬁ e STEEHERe) SAENED
1. %

Quoting a source directly without citation

) oH8pho seome (B&Bore H50id aethey

Rewriting someone else's work in your own words

3 % a8 HHe HAY & m‘soe:ﬁéme_}ﬁs 8BA (srainéd

Properly citing sources to give credit to the original authors

. wden o FEardd HdHhod S0 6irboihe
4.



Question Number : 9 Question Id : 51714411119 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the typical order of sections in a research article?
2.8 H08%Sae 5?521306'5 Deerren Srsoren (Eisn 6.

Options :

Methods, Introduction, Results, Discussion, Conclusion, References

% ;'Jiée‘_‘i)m, 65D, HOaren, S, Swhodd, ééa}é@a

Introduction, Methods, Results, Discussion, Conclusion, References
HBSchsy, écgéae;o, HDsoen, I, Swhosd, fi‘agﬁmeﬁm

Introduction, Conclusion, Methods, Results, Discussion, References
35B5cHHn, Snhos, :ﬁege‘_ijm, aDaren, S8, t’—:.f_iazeée_n

Results, Methods, Introduction, Conclusion, Discussion, References
HOaren, :{:.cgéum, DHbSaben, SoAosd, S8, ﬁgﬁa}ém

Question Number : 10 Question Id : 51714411120 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the purpose of the "Acknowledgments" section in a thesis?
?;t:);oé ajvééa’m@éﬁ é@é@é@ ariidn @HHB

Options :

Ta list all the references used in the research
588055650 é‘:éa:é@ e Scirth Desnes

To introduce the research methodology
5 % 588855 5B HHBAHo Bcsnes

To acknowledge and thank individuals who contributed to the research
5888555 55@(%66 éﬁ@taotﬁﬁé 080D, Higrrren Sended

3.

To present counterarguments to the research findings
A% 588855 PDsreD [DESraTdden Scsnés
Sub-Section Number : 2
Sub-Section Id : 517144454
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 51714411121 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval
to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)
Question Label : Comprehension

Note: Answer the questions 11-15 by reading the following passage:
K508 ol ad@ssd Sirardo egrbore Q 115008 Q 15 (Dol S&rgraren

[Bilevslelat

The mansion of Ebenezer Storer, an extensive edifice of wood three stories in height,
was erected in 1700. It was situated on Sudbury Street between two trees of great size
and antiquity. An old English elm of uncommon height and circumference grew in the
sidewalk of the street before the

mansion, and behind it was a sycamore free of almost equal age and dimensions. It
fronted to the south with one end toward the street. From the gate a broad walk of red
sandstone separated it from a grass-plot which formed the courtyard, and passed the
front door to the office of Mr. Storer. The vestibule of the house, from which a staircase
ascended, opened on either side into the dining and drawing rooms. Both had windows
towards the courtyard and also opened by glazed doors into a garden behind the house.

@36 P56 GwE) g5do, Hrth wodhe IS ErBS DRBRS 950, 1700 &°
DBjoSadod. =6 latata) @5@’5 Both P DoeES 3 gk eob. 5o Swoh FaTa)
Dz’ erprdndd o) Hoch DepFed SOAS ard wolf Of) Sén wbrran
Bcin orf) ¥ orord) DErED Habdy) Hbcn Seden BOAD a8 & e AT
DG BBeao JHre Hofod. TS o8 B WHETrons® ErdS DTS SEE ere.
KE D w8, 330@5 55:355 sogech  H0oth Sensdi é&)&@vom. 508 Haroe
(5886 Hob Dey InSB BAoR BEM ([Erowoh SroHed'd abhgher Do,
Bo&BE B aaden GTTOW. SRS Sendyen AL e z08 o8 és?ﬁ& shereta
Ba¥o sob.

Sub questions

Question Number : 11 Question Id : 51714411122 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The mansion of Mr. Ebenezer Storer is old and
31:@5 0 B3e2b @365 cﬂné& 50 arshH HB®

Options :

stately
KoDBHB.
1.¢ e

in ruins
BHOIHO

uninhabitable

- @mﬁcﬁﬁ%o =06



inhospitable
4% esE3B80506

Question Number : 12 Question Id : 51714411123 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The mansion was built of
ZRo &8 &6@05&1&0&

Options :
red stone
| % o8 oeow

sand stone
=08 Teow

wood
3¢ 5%&,
stones
Uﬂ@”:@

Question Number : 13 Question Id : 51714411124 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The courtyard is filled with a patch of
@ Fddo 1B & Dol &ob

Options :

grass
i

wilderness
&ﬁtﬂcago

low trees
D) Iy

flowering pots

4% Jre Biotien

Question Number : 14 Question Id : 51714411125 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



The staircase opened into on one side.
2.8 Ja) &) shén &8 Dtiyyseom.

Options :
garden

1. &%

courtyard

, % (@roieso

dining room
-~ Hhasarer K6

office

A% sno%mcﬁm

Question Number : 15 Question Id : 51714411126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The word that means- ‘wide’ in the above paragraph is
2 aoee® Dol @ ©80 éétj D80

Options :

Extensive
3}@5@_}5

circumference
ﬁj@g@@e‘_ﬂ

dimension
3 % 208rEo

uncommon
3’1}
4w O eBeaghun
Sub-Section Number : 3
Sub-Section Id : 517144455
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 16 Question Id : 51714411127 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



A communication prevents misunderstandings and helps in
establishing a constructive relationship
SEWARERS] orrol Dardinot HBcin doymrd)E Somogrd) BB SE0S®

RHaTbchHEaehob.
Options :
positive
L e
passive
) % ﬁjlgagpﬁa
reflective

Lk OB 06558 Kb

retentive

" et 38 He

Question Number : 17 Question Id : 51714411128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Lack of effective skills is a major barrier in the teaching-learning
process.
ARt g5 IBAHSE® (Hprd ©B6%%0 éaﬁ:géoé@é
BERESK0
Options :

stress management
{2 f\""
| ® w%& ?Déox:ﬂ“w

listening
- DVBE Seago

crisis management

::aogfﬁ Weltac

time management
Jenah DBETes

Question Number : 18 Question Id : 51714411129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Successful intercultural communication depends greatly, when one
other cultures.

=tile] ﬁo@&ém:@_ SO0 Hexd, @Déﬁn}oé&}@ Hoegries @tsnbsen
BHote Sriehod
Options :
praises

% B%0%

respects
2. W faiteT o)

practices
3 % EvLATY)

helittles

Lx 0% D

Question Number : 19 Question Id : 51714411130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

When different people look at the same thing differently, leading to ineffective

communication, it is called barrier.
36560 S5Een 2.8 DAY DJore SraSD, @b SGth SSrarrrds
w&@?&é@d}, (LT @508 @otrEtn
(i)
Options :

Psychological
L% APHRE SN

physical
) u TOE

emaotional
epvﬁﬁécgﬁ

perception

‘/"-'D
A BITTPETo

Question Number : 20 Question Id : 51714411131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

‘Twitter' and ‘Linkedin’ are examples of media
‘55%35’ Ho8cio ‘E}{::%S : SrgErR8 ereieteen

Options :



social

| o TR
digital
, w B0
Print
5w (S
Traditional
r DolSHmeaHE i

Question Number : 21 Question Id : 51714411132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
5, 10, 40, 240, 1920,

Options :
% 19020

, » 19200

19220

21120
4, #®

Question Number : 22 Question Id : 51714411133 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

DMP, IOM, ___, SSG, XUD
Options :
| & MPI

Mal

2.8

NPJ

3%

NQJ
4.



Question Number : 23 Question Id : 51714411134 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word KITE is coded as 4567 and the word
RATE is coded as 8967, then how is the word TAKE coded in that language?
2,8 A0 6 272 KITE @& D)) 45671 <0005 RATE & HT°Q),

8967 G TN, & 2 TAKE @& HIR)) Je» §& Tard
Options :
| % 6974

, % 6794

3¢ 6479

6947
4. 8

Question Number : 24 Question Id : 51714411135 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Two numbers are in the ratio 2:7. If each is increased by 12 then the ratio of the
resulting first and the second numbers would be 1:3. The second numberis___

Boc Dowsen 2:7 DSBS’ &ae)om. (8 2,833 12 DoDSL N,
DOSOTT J0EIES DO B0 Do VA 1:3 @6)e0. BOcsad
Qo®E__?

Options :

x84
, x M2

% 126

, v 168

Question Number : 25 Question Id : 51714411136 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks :

If the cost price of 18 articles is equal to the selling price of 12 articles, The gain
percentage is

16 SWHO B OV 12 VP 9:0385) G5 D0 0N S, €8s
F B0



Options :
| % 16.66%

) % 20%

25%
3. %

0,
A 33.33%

Question Number : 26 Question Id : 51714411137 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Statements:

All hills are mountains.
Some rocks are mountains.
All rocks are ropes.

[8eren:

FOS) HE TS,

5 Zoen HY sEren.

Conclusions:

R All hills are ropes.

. No hill is rope.

1. Some ropes are definitely hills.

ST e

. oGO =Y.

Il. 2 §°0¢s ST B0 SN,

1. Q) &0 D Bomr SFodkewn.
Options :
| % | follow

Either | or [l follow

2.

111 follow
3. %

Either Il or Il follow.
4.

Question Number : 27 Question Id : 51714411138 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



In a class of 10 students, 110 students passed in chemistry and 120 students
failed in Maths, 30 students failed in both the subjects. How many students in
the class failed in at least one subject?

10 0B DT sHENS) SEHBES” T RET 110 H0A, HedesocS 120 HOO
DTEHEN DOV, BOR SBPES’ 30 H0O Dsthen
ONOAF . SHEHBS D050 Dsen EHH0 2.8 HBP S
POV SN ?

Options :

| 120

, » 160

3« 140

4 % 180

Question Number : 28 Question Id : 51714411139 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How is my father's father's only daughter-in-law’s brother related to me?
S TOYTPO 2.8 PSE) S8 551388 T°5L arofsgo Doe3?

Options :
Father
| x  Sol

Paternal Uncle

_ ojtﬂmué&

Maternal Uncle

- Sl

Cousin
4 % 583

Question Number : 29 Question Id : 51714411140 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not carrect with reference to anumana according to
classical Indian school of logic?

SES ROGODNM Ay esz) €238 (D530 ®HEred8 HoVoH o) &
1808 ¢3S HBIE IO O?
Options :



Linga/Sadhana is the middle term
Dol larsd @38 sgig Hso

Paksa is the minor term
éé SRl E]Eé& H%0

Sadhya is the major term
5% R @30 HeEd Hiso

Hetu is the minor term

T @b E:'Eécl S50
4.

Question Number : 30 Question Id : 51714411141 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is true with respect to the first figure of categorical
syllogism?
S50%Ser TE), Te3 @0TH H0OHOD &2 1808 83 DA He5307?

Options :

The middle term is the subject of the major premise and the predicate of the

minor premise

G2 D0 @[ 1IDT N Hdhabo T3E) 050 HOOL D) essite
L Q308 rSredso

The middle term is the predicate of the major premise and subject of the
minor premise
L D0 @TA D), Hhdbo TBNEY (DT 33362 OG5 3N

, % OBOZ) @rSredso

The middle term is the subject of the major premise and the predicate of the
conclusion
0G5 D0 VA (DTS @G0 SHBOIW LSRN0 DY) e@od0

3.8
The middle term is the subject of the minor premise and the predicate of the
conclusion
4w S0G§ DR @m0 DN HDHdHo SHOC SN0 TBE) @030
Sub-Section Number : 4
Sub-Section Id : 517144456
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 51714411142 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval
to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (31 to 35)
Question Label : Comprehension

Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
HoDE: 1808 B3R NIrtrdo esmrdom™ Q. 31 c0& Q. 35 (4) 0%
Qe (oo,

In an University, the strength of male students is 1500, Female students is 1200
and Faculty is 250. The distribution of percentage of strength in various subjects are
given in the following barchart.
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Qe SO,

Chart Title
30 .
24
25 22 22
20
15 1212
ST % 5 8 il
3
5 I l | |I
, Hm I
o .'5“ \ Q, Lj .
& & fx“@ Q;G@ 6‘0 & & 1."“{\‘ 0*
Q o AD S g
& & V) Y
K N 22

W Faculty W Female students W Male students

Sub questions

Question Number : 31 Question Id : 51714411143 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the maximum?
806 73 HBR0 DE?
Options :
Number of female students in chemistry department
L% 3R Dariods Hsrer Deegthes Sows

Number of female students in Botany department
5 @ B DeriodS erer Darsdhe domg

Number of faculty teaching Management
% DT DO eSD00 2rs4d) Homg



Number of male students in chemistry department
L% TR VerifoS K DoEzhe Hows
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Zoology students pay an annual fee of Rs. 25,000 each. The average salary of
each Zoology faculty member is Rs.10,000 per month. What percentage of the

fees collected are paid towards salary for the faculty?
23065 TR (2Parer2d) dorihen 08 Haddw Gr. 2.5,%68 25,000. (Hes

23068 T Q(erereed) ;:f“‘;é) AENER e 2230 TBL E.10,000. Scdirew
DX 02 D0 TS0 eorrEiniue Zerdd TOTH?

Options :
|« 56%

L 51%
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What is the ratio of the number of students taking Maths, Physics and chemistry
to that of students taking Botany, Zoology and languages, after rounding off the
respective totals to nearest 1007

He36%0, D228y DO ?&bfg HOD dzther dops, S, ararersd
00D €roT FBRD SNHT AT ;DO S0 B, HOOHS INTLR
ers) 1008 S0 TR ST 56d D) )OeH?

Options :
1:1
1.

3 % 4:3

4%
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In which Department is the ratio of faculty to students, the lowest?
TEHHO HOAM DO DAIB &) DerHosS” eoeher 10T GOH?

Options :
Botany
L% 39830
Chenlistry
2 v SR
Language
3 ® aj“,ﬁ

None of the above

HeE3S® A Bew
4. %
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If 25% of the faculty members teaching management are absent for a particular
academic year, then approximately how many faculty will be available for every
batch of 40 students of Management in that year?

HTE 08 SO0T 0rsdHoeeS 25% SH0E AR Do D05 T8
AT20S, & D058 3508T DTS DOES 40 H0A JEsthes (HS
25550 QDSTEMT DOes D0 57556 e00erene &oertn?

Options :
v 3

6
4%

Sub-Section Number : 5
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ASCI stands for ?
o). d0R.D.0.80 &S

Options :



L American Standard Code for Information Interchange

American Standard Code for Information Interaction

2. %
3 % American Standard Computer for Information Interchange
L% American Standard Computer for Institutes Interaction

Question Number : 37 Question Id : 51714411149 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

........ is a private network within an organization.
& BIOS BoPS® Db (P IDHGY
Options :

Internet
1. %

Intranet

; % Ethernet

e Hypernet
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e-Granthalaya is a digital platform developed by the ........
a-foprecie A28 J6% SRt D6

Options :

Ministry of Education

L Do snol@&Eo

Ministry of Finance
@Qé 300(B&0

Ministry of Electronics and Communication
3 % JelgEIRY), éém@éﬁéaﬁéj $00(B&k0



Ministry of Mines

4% Hehe HoBeko
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RAM means ........
oo @b

Options :
Random Access Memory
1.¢

Rapid Access Memory

- Remote Access Memory

4. % None of the above
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Which is an example of a cloud-based file storage service?
B85S 7065 HB Hdo egebs @;‘éaﬁ DS SoeErSe?

Options :
Whatsapp

Mozilla Firefox

3 Drophox

4% Instagram
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The target year for achieving the Sustainable Development Goal is...
DerBe @é’,ﬁég% oFs 5% F‘LJB_E'\}%?@ doRd&Bo

Options :



2025

) 2030

, 2035

2040
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Which of the following statements is true about global warming?
(5505 DBMS® K HINS O (HATFSE HBDHH?

Options :

Global warming has led to large scale deforestation
[HH0S 8D 2 S8 ®éd) DIy 682086

Global warming has led to a rise in the sea levels
5 @ 00T SBI Ho(Es EJ;OJ}-P_J 2Hi080%H 68206

Glohal warming has led to a rapid increase in the population across
several countries

oS 38D DS Bared® morgr ok DB oodDHob

Global warming has led to a huge amount of waste generation
(533308 3880 grb a’)e:,t;:w 6538 882086,
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Which of the following gas affects human health by reducing the blood's ability to
carry oxygen to different parts of the body?
esfyesihoid DN $88errreH @K}Jéﬁ% B8 EED é@oﬂ EVYEREN) 9355@3&& =

BIDD araind (Herdso 3@0&
Options :

Carbon monoxide
50(5%35 AneeE
1.¢ i



Carbon dioxide

) % Y0 B ¢9B)E

Sulphur dioxide
5 % Senb @ w86

Nitrous dioxide

A% SOD e85

Question Number : 44 Question Id : 51714411156 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The National Institute of Disaster Management (NIDM) was established

6] § RS —
arBoh DHdy Ve S0y rooHals 86
Options :

September 23, 2002
?3%;_03::53 23,2002

August 14, 2001
eaf‘{}fg 14,2001

October 16, 2003
; » ©5atkh 16,2003

August 14, 2004

4 v O 14,2004
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Where was the first International Earth Summit held?
B nla) @oéogge@cﬁa BTl HrSHo 28R “{%a}o
Options :
| % Kyoto

) Rio de janeiro

New Delhi
3. %



New Yark
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What do you mean by ‘Shastras’?
Fo|deen e

Options :

Creative literature

Q) Jrardso
1. % e/ &

Learned disciplines
) S8 Flren

Imaginative
3 % éaﬁééé
Creative and Imaginative

4% YRS, eaBE
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Who was the chairman of NEP 2020 drafting committee?
aR.3.8 2020 Soaronte @dghtd OBt ?

Options :

Kailasavadivoo Sivan
Dr. K. Kasturirangan
Prof. Yaspal Sharma

Prof. G. RajaGopal
4. %
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Which of the following learning programme originated in India and is considered
as one of the oldest?

20835 [Frodonad, HorESHSeM HBKBoDNNE ©grgd B EHdn 267

Options :

Law

IO R0
1. ®

Fine Arts

) % exf)ed Bgen

Ayurveda

- e_acﬁnﬁécﬁ

Management

AT
4. 8 =
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Which is a solution to reduce the progress of climate change?
TEdtn S8y B0 ShoHed S8

Options :
Greenhouse Gas

L% DB mod A0

Wind Power
md F8

Deforestation
@638 R)ti}g@?é

Fossil Fuel
Bere: BOLH
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In which models of Integrated Education Programme is being implemented in
large scale by governmental and non-governmental agencies in India?
m0885e Y (38D, @'}e}iﬁééd 50‘%@, _E:]t‘é S50, & D50 Doy e

SedgEaa) HRurardy @FenDiETon.



Options :

Resource model
L% Hdthe Horae

[tinerant model
airlEe WHarae

2. %

Both Resource and ltinerant models
SR doe sobodn i Rsumae
3.9

Dual Teaching Model
-555065 He55% S
4. %
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The Life Model (Ecological) of social work practice is best associated with
FAS $55) B0 By B IS (DFer2ES) edsdom

9 DVOEOTIDGO
Options :
Walter Friedlander
o0 [&ers0kb

1. ®

Mary Richmond
L % 00 05006

517144148
2

Online
Mandatory
96

96

200

Yes

0

1
517144458
Yes

null



Carel B. Germain
500 2). B0
3.« -

Florence Hollis
= = - =,
4 x 00 O
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Sum of the deviations of all the values of X from the Mean is?
S 00 X ABg) 29 DENSO VIO [0
Options :
Minimum
Lx 30

Zero

- ")
Maximum

s 18a20
One
2,5¢3

4.%
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Contradictory demands of the same role is termed as?
2973 (% ABNE) DDA B3r0GBK WET DV ?

Options :
Role strain

.= E
L 5S | DoONS

Role playing

L &S anoh



Role conflict

a5 0B
3.%

Role twisting
L x TS e3sv0h
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Dementia is a
3850

Options :

Neuro-Psychiatric problem
80758 -85 (€38 DS

1. ¢ ;

Mental health problem
L TR e85 DS

Dermatological problem

s 23872 DO20EES D0
Cardio-vascular problem

4 % TRAT-TA0FO0 DS
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Social activist and Magasaysay award winner Mr. Deep Joshi is best associated
with?
307228 5759588 0BG DHRTR @D (Hfored DD O S oD
29022080 SOH?
Options :
Tribal Welfare

AB235 DOT 0
1.V

Child Welfare
, % 3D S0BNO



Family Welfare
L % 30E002) NOF 0
Youth Welfare

RSN RNLAY Q0T 00
4,
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To evaluate another culture according to the standards of one’s own culture is?
2,80 5065 OO S |DATET® (S0 sNTE DO YR O0TIT® DONEO

Options :

Material culture

i 23D DO} e
1.

Ethnocentrism

. DE Y 0320

Non-material culture
23T DODY 3

Xenocentrism

. B 08320
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Which of the following are the characteristic features of an urban community?
806 365" HEE HDONO TBE) ©F £2 OF ETeN DD?

l. Large size
D DOSTEIO
Il Preponderous of voluntary organisations
D425085 DO (T TT5eh
1. Anonymity
29250
V. Preponderous of secondary and tertiary occupations
55 305 SO 530D Heed TINEY, SO

Codes :

gGew:
Options :
Il & IV only
1 & IV 53575

| & Il only
| & Il 3557 Hasd

2.8

1, 111 & IV only
I, 1 & 1V S5

3. %

4 LILIT& IV
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Which one is not the assumption of social case work?
FAD TR 90} D0E) &I SO DO?

Options :

Every human being is to be respected
1963 oD T ADOIDFE)

Every human being can change
18963 a0 377G

2. %



Every human being has some work
1963 SDINE A& 2,8 DA SOLNOE

Every human being is an artist
1963 SOANE E 2.8 DA GOENOD
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Which is not a correct statement about lay-off as per Industrial Disputes
Act, 19477

JO|F"0E D TR0, 1947 105700 B-e8D (HOOD DB (D8I
DA 07

Options :
Lay-off is refusal to give employment.
. S-D 0T O W SEERE DTEB0IC0

Lay-off may be due to break-down of machinery
ADOEF D)D) O SO0 B-e89) 57320).

Lay-off may be due to a natural calamity.
198983 IDOeEHS0 SBLOM B-e3D 555t

3. %

For lay-off, an employee need not be on the muster-rolls.

. S-e59 §0, 208 &E5A VB-5S S 0BV 930S0 BN
4.9
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According to Durkheim “Human agency” is constrained by
38300 1995750 "STUeNR DB T°50° DB)OS0IDGOH.
Options :

Political process
|« 0723805 18D
Social structure
5 238 Q070



Economic resources
5 % BS08 SN

Agency of other actors
L BBS S5O DB
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Reproductive and Child Health Programme (RCH) in India was launched in year
2FSSHTFOS 5)B0e53E SNBTIN DO e85 5B 5500 (RCH)
D03e83506S (B0 0IB0E

Options :

v 1997
, % 2001

, « 2003

, « 2006
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The notion that men are stronger than women is a?
5 v o ] L L
10 0T HIADDEN DO ) O aedd?
Options :

Sanction
L e o002

Value
L % SN
Norm

E{ANEV AN



Belief
He80
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Voluntary reference of disputes to arbitration is dealt under which section of
the Industrial Disputes Act, 19477
0C5550E 48 HODOHODD DT T3 D50 (DT o) EN 80
D0 B0 CERNO0E TOFNE DI T IO, 19477

Options :

Section 9
|« RESO

Section 10
, % 0810

Section 10-A
E S 10-0
3. ¢
Section 11
088 11
4.
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GDI stands for
GDI &0

Options :

Growth Development Index
IS BIODD0E FOTS )

1. ®

Gender Development Index
. 0 292D S

2. ¥

Growth related Development Index

DB D0D0EED €92)I)D DITIE
3. %



Gender related Development Index

4 % D0 DoDOHE ©98)5Q LY
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The Rational-Emotive Therapy is best associated with
D273 T 51 DEEHY B0 €900 D0TIDEB0E.
Options :
Eric Berne
1'33 288 230)

William Glasser
- NEIOHO ;T"ﬁbﬁ

Albert Ellis
s v BOIR IO

Gordon Hamilton
o % DT VYD
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Which of the following is not a correct match?
206 3 DO OB S35 5207

Options :

Functional Model — Jessie Taft
. DOEIS TrehS - B €7

Problem-solving Model — H.H. Periman
Q50O E S0 - HH. 008

Client-centered Therapy — Carl Rogers
i Eo00d-80(HEY D8 - 50 8235

3.



Reality Therapy — William J. Reid
4. v BOSFEE3 BB - DOCHO J. BE
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Which of the following is not a theory of labour welfare?
2806 365" DA 5268 HOTN DT°0H0 577

Options :
Religious Theory
aES VDL"0EB0

1. %
Trusteeship Theory
VN VP00
2.

Policing Theory
- DPDVOR DT°050

Distributive Theory
4. B Daxrse3n HAnd
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Adult literacy and combination of primary, secondary and tertiary enrolment are
the dimensions of :
HTTT235 @& T%I5e5 DA [EFAE, O S3GH S0BAN e5ye3aH FTTCD
gerons a3WE), Tereden.

Options :

Life longevity
. 28¢5 BTN

1.

Knowledge
s @O0

Standard of living
1 % B0 DT



Social harmony

4w eSS RPeNONSO
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Under which of the following articles of the Constitution of India does the state
provide equal justice and free legal aid?
23865 Tre37s050S R 808 &) @OESSS T 00 @OHNOA
QeI SO0 sNBAN t5IEd LA NoI*CANO?
Options :
Article 38
L x 05O 38

Article 39
esD3S 39

Article 39-A
- @@é@ 39-A
Article 41
3885 41

4. %
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The Right to Information Act was passed in the year ,
DTS 3780y, IO D065 1506 SFTA0IDB0E

Options :

|« 2004

, » 2005

, » 2006

4« 2003
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Correct Marks : 2 Wrong Marks : 0

Freud suggested that mind is composed of :
DA & B0 S0ENOAA (BPONGE DTOTICR.

Options :

Thoughts
R T E RN

Feelings
PR ARNESY

Instincts

s 5 DIV

All the above
4. Eéb;
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As per the William Beveridge Report 1941, which were the “Giant Evils” in
society of England?
DOHO BIOE IIOE 1941 (D550, @ D20 "BonoeS &S 3"
QOT0&?

I. Squalor and Ignorance
o) S0 DO TS0
Il. Want, Idleness and Disease
P08, D310 DB 5
Ill. Idleness, Disease and Poverty
2QB0, 55 HOA 5080
IV. Poverty, Unemployment and Squalor
080, AHE KO DO S08%0

Codes: §&Gex:
Options :
[, Il only
ISR
[, Il only

Lo b SRR



[, IV only

Lx DIV OIS
| only
| 57900

4. %
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Which one of the following is not a part of the Directive Principles of the State
Policy?
806 ¢3S DA T D0 Ty, e3B2E S 2rto s°e0?

5]

Options :
Panchayats
. HDOTIAHEIEN
1.

Weaker sections
L % DT ST
Law and order

v & @05 e0b

Animal husbandry Standard of living
4 % ODHRAED 2365 (a0
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Who among the following is associated with ‘Bachpan Bachao Andolan’?
20O O DB WEIR 2T BOEFR'E 00200850 EOR ) $?

Options :

Medha Patkar
- b

Kailash Satyarthi

= W o
, v 3R g0



Sunitha Narayan
VE® OO

Maneka Gandhi
L w DT oS
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Which among the following Indian States has conducted the Panchayat elections
first in the country after the 73rd Amendment Act?
806 2XBB0 T7aTOES & DO HDOTTONE D) ED
QB £or0I0E 7365 DIBED TIO ST 5657

I. Madhya Pradesh

DS DTE
Il. Karnataka
S ONATS
Ill. Haryana
PSS ONTV
IV. Punjab
NOo23D
Codes :
Options :
| only
ISR
1. ¢ )
| and Il only
- DO 11 5775
[, Il and 11l only
1, 11 0850 1 5750
3. %
[l and IV only
L x Ne0Ba® IV NV
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Which among the following statements is not correct?
206 RED0EOS” DA HDBIE 5°¢0?

Options :
SSA seeks to provide quality elementary education.
. SSATEISS PRE 5D OQOITTRE |D0DES) NOE.

1.

SSA seeks to open new schools in places which do not have schools.
| TBTO B 5L TH BFOOR) BB SSA (0D NOA.

2.

SSA addresses the needs of 192 million children of India.
. SSA 233305 192 OGN DO @HITOD HOXON0A.

SSA inter alia focuses on adult education.
SSA 200 AOATT HAF2 DEED gt CEROE.

4.
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Which among the following statements is not covered by 73rd Constitutional
Amendment 7
7355 072308 H0220800) 808 (DEENOS DA OBHE 520
Qedeaex?

I. Regular elections to Panchayats every 3 years
D 3 HOHEBITOBY 2,570 DOTTONEBOED TS D) Een
Il. Reservation of not less than 33% for women.
TS0 33% Z0T) €650).09 SPE0TE B23D L.
I1l. Constitution of a State Finance Commission to help Panchayats.
DOTONBEHE HHFAHNO TANETIE o7 @808 SO0 T°235000.
I\V. Proportionate seat reservation for SC and ST.
D) 0O DVOE TIETRL N B2V AN

Codes:
Options :

| and Il only
. 1shdas I NS

L.



l, 1l and 1l

1, 11 0805 I
2.
Il, lll and IV
s o IS8T IV
RN
111, 111 0805w IV
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Which of the following are the attributes of a profession?
806 73S 9 TBNE) OF TN DD?

. Recognition by the society
HDONOD HB0D

1. Profiteering
DA OS]

Ill.  Formal agreement with the state
O 0SS 05588 2,0)080

IV. Controlled entry
QOO E3€H |IIFO

Codes:

g&en:

Options :

| and IV only
. | s0BASW IV 557 eH

[, Illand IV only
1, N 508030 IV 8793

2.8

I, lll and IV only
s w11 111 08a0 IV INVETE TN
LI, IV
1, 11, 11 080 IV 835793

4.%
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Which among the following is correct?
808 e3¢5 DB E?
|. The maximum gratuity payable to an employee is 10 lakhs.
&E35A8 TOoO NS KO ([Tenses 10 g en.
Il. The wage ceiling for the coverage of EPF Act is 15,000.
EPF 580 855028 8700 3655 H0a0ed 15,000.
I1l. A conciliation officer is empowered to pass an award under Industrial
Disputes Act.
TOF0E D) IR0 (DFPH0 9 SITA0EWE 2.8 T2l
5508 OO0 GOLNOA.
IV. Registration of a Trade Union is compulsory to get it recognised by the
Employer.
002330 HB0NY) OO0 [BIE CRTRAN® Ha307¢) €308,
Codes: 5

Options :
| and Il only are correct.
[, 1080l SI7E933) DB

[, Il and Il are correct.
» % LI s08aW Il AT d

[, Il and IV are correct
5 v [, I DB IV QOB cda)

All are correct
L x O OB
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The observation made without involving extrinsic and intrinsic variables is
235375 S0BC OB FOOND Y 1HaNCNO BEOT DD HOZOS ___

Options :

Participant observation
|z T IO DO



Non-participant observation
% DO DOFOS

Controlled observation
L % AADOEIES HOFED

Uncontrolled observation

P €0 ODHO(EdS HOBD
4.% Z
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is a violation of contextual, cultural or social norms.

DOBTYDB, AP0} )edE B Arede3E D220 LOLND.

Options :

Rebellion

| eren

Ritualism
5 % BTITTEN

Dyad
., APB HATBHO; BOT HOZN0

Deviance
4 v DTON0Y
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is the study and review of past operating experience.
R 1§65 DB L5376 9230 TZ0E), E9CIFANO0 BTSN Do .

Options :
Recording

Accountability
) % BNTOSI0



Monitoring
. ATVEO0H

Evaluation

s $0EN0
4.9
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assesses the likely turnover in key posts and identifies suitable
candidates to fill these posts in future.

8038 QO H02THS €T 55 0TI BOE BTN
A5 255D HANOE 255 S PP DoHNOA.

Options :
Manpower planning
s 990948 (DT DI

Succession planning
- OB ¢ | DETE

Turnover
3 % &366‘;,0,36

None of the above

. 2032 5%

4.
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Assertion (A): Social policy is necessarily concerned with the promotion of social
development.

10885 (A) 1 228 D0 €550 )BT a2l (TP T 8
QD020HOVINE @88,

Reason (R) : Social policy is the planned intervention to improve existing social
system.

5° 3290 (R) 1 radre38 DGP0 2900 @D &) redrEsR)
SHADHISEIETRE |DET P57 2N 5850 95ID.

Choose your answer from the codes given below:
AN 85D TR NOG oD DATFTRR) DONSod:

Codes:

gGew:

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)
L (A) HBAN (RIBOGF OB HOAN(R) ODA(A) TINELOBS DG

Both (A) and (R) are not correct.
(A) DA (R) BOGT OB 50

2.

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
1w (A) SHDOTNV(R) DO OB, TR(R)IDD(A)TZ0E) OB DeHBed 5°¢0

(A) is correct, but (R) is not the correct explanation of (A).
(A) OBIO, 50 (R) 9 (A) TB0EY DTS DB 57

4. %
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The ‘Structure of Social Action’ was propounded by:
"S85 B3NE) NTEI0" DO (DSBTOOIDBRO:
Options :
Max weber
. a8 ) 3200

Robert Milton
) & 00 DR



Talcott Parsons
v E3e)Ed B )R)

Radcliffe Brown
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Assertion (A) :Trust is crucial to the relationship between a professional and a
client.

1B (A) 1 28 (IS 08050 Fo0Ed 055 H00TE (L §e¥0
Reason (R) : Trust in a relationship can act as a catalyst for behavioural change.
5230 (R) 1 D02)0506T 6350280 (D3G7 33050 GiS 380
DDA,
Codes : §Ge:
Options :
(A) is true and (R) is false.
- (A) Q230 0OAW (R) €56
(A) is false and (R) is true.
L (A) €96)) O3 (R) 220

Both (A) and (R) are true and (R) is the correct explanation for (A).
3 v (A) NBC (R) DO Q23530030) aDOCSW (A)8 (R) OB a)adBea.

Both (A) and (R) are true and (R) is not the correct explanation for (A).
. (A) DB (R) DO Q230 B0 (A)E (R) OB addea 5°C0
4.
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Assertion (A): Social workers are imparting training in soft skills to the police

personnel.
DB (A): 238 52355800 SFOD 2)0E8 TP SO e
20 .

Reason (R) : Social workers are trained in basic values of justice, equality and
respecting human dignity which render them appropriate for
imparting training in soft skills.

5°3E00 (R) : 2307238 578558860 5000, D36 50 DO (alrGeE
NI 2 B8 €9 SPOCHTRD 35796 MBI, TAN0IGB0, JE

F¢3Q OBOTTRE BRSO TR0 ' S & BE .

Codes: §°6Gex:
Options :
(A) is false and (R) is true
. (A) (A) €55))) a3 (R) D230

(A)is true and (R) is false
(A) Q230 s08CW (R) €8a)))

2.8

Both (A) and (R) are true, but (R) is not the correct explanation of (A)
e B SDOTIN(R)BOCT D230,5°(R)ODE (A) TB0E) OB edBed 52N

Both (A) and (R) are true and (R) is the correct explanation for (A)
'y (A) DB (R) BOET Q230 B3 (A)S (R) OB )adbed
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Which of the following is not a correct match?
806 73S DA OB 78S 5°CN?
Options :
Mohammad Yunus — Grameen Bank
L S0IB AT - (e 237508

Amartya Sen — Welfare Economics
- 26085 D - DOT oD 0¥ T QO

Verghese Kurien — Sampoorna Kranti

s v DTV ZBANS - S0 (570



Mahatma Gandhi — Swadeshi
4 % S0EY TOH — O 503
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Match the List — | with List — |l and choose the correct answer from the codes

given below :

List—1 e3e)es - | List—1l 23e- I

(Name of the Author) (Title of the Book)

(BT5006e5 D) (F0 ABWE), 20%)

a. A. Kadusin I. Principles of Social Case Work
L0 RS T 90 Ay Een

b. T. Biestek ii. Child Welfare Services
T. 98 3O IS0 DO

¢. Grace Mathew iii. Introduction to Social Case Work
B S¢S FAD TR &35, HOHANO

d. S.K. Khinduka
DR.8. HOCHE

Codes : §Gen
Options :

a-i, b-, cHii,
2_sga-i, b-ii  c-iii

;. % aiv, b, cHi,

a-iii, b-ii, c-i,
4.%

iv. Working with Communities
DOHTOS EO D BFOO

d-iv
d-iv
d- iii

d- iv
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Match the List — | with List — II. Choose the correct answer from the codes
given below:

e — | 2328 — 11D OO0 OO O @ 505D F&e Hod
DB DT, DOV O:

List — | List — I
22 )es — | e - |
a. CARA i. Morphostatic properties
CARA J°8 Yare3E ©F sren
b. Family ii. Alzheimer
Z0E00D0 @@5&35
C. Dementia iii. Child
DSIEe50 OO
d. Creche iv. Adoption
&3 &ebes,
Codes : 8&
Options :
a-iv, b-l, c-ii, d-iii
1.

a-i, b-ii, c-iii, d-iv
2. %

a-iv, b-ii, c-ii, d-
®

a-ii, b-iv, cHii, d-i
4.%
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Match the List — | with List — II. Choose the correct answer from the codes
given below:

e — |8 erd)es — 1R OO JOG S0OAM AN @ 5230 §&e oG
DB DT R DOTNE 0!

List —1 List—1I

2 )es — | e — |

a. MADA i. Rural Housing
T S8 SFvoN

b. Step up ii. Rural Connectivity
&% e E380¢S

c. PMGSY iii. Urban Development
PMGSY DD 9B

d. IAY iv. Tribal Development
IAY (8238 ©2)59 @

Codes : §Gen

Options :

Loy, b-iii, c-i, d-i
5 % adii, b-iv, c-i, d-ii
3 % a-ii, b-i, c-iv, d-iii

a-i, b-ii, c-iii, d-iv
®
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Match the List — | with List — Il. Choose the correct answer from the codes

given below: )
List — | List — Il
e )e — | ere)es - |
a. Probative Department I. Rehabilitation of Offender
1P23E3R BD0E ODTE AWBWE), DHDT*O0
b. Parole ii. Juvenile Justice
25 2SS 23V
c. Vocational Training iii. District Court
598 BE € B0 TP
d. Child Welfare Committee Iv. Reward for good conduct
SO IS0 Enes 00D (38850 DEBNE0
Codes: §Gen
Options :

|« &, bl cHil, d-iv

, o aiil, b-iv, c-i, d-ii

3 % a-iv, b-l, c-i, d-iii

a-ii, b-iii, c-iv, d-i
4%
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Arrange the following Acts in a chronological order of their enactment:
80A THETO °E3 2960080 D0VOE0N B0 E3Te OO €9:03)08%:

|. Plantation Labour Act
TOTIN® B0 A5

Il. Payment of Bonus Act
550 &0 BOoH

[1l. Payment of Wages Act
Sevarer TO0D) O

IV. Motor Transport Workers Act
ST Saredr 528500 OO0

Codes: SGexn
Options :

I N ((I\Y;



Lw IV
N | \VA

I AVA I |

4. %
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Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

M.G. Ross has described four major roles of a worker in community organisation.
Which of the following are those roles? Choose the appropriate code.

D0.22. 53057 ES e3OTEASES 35,5 TB0E), e 95 el e T7R
DHB0TIER. DO BOB 57e36T €8 a5 EI? 55 FE o0 A.
|. Leader and Educator
TPODNBVC DBAN DTS 56D
Il. Social Therapist and Expert
FAS BV sDOAN QD)EDCD
I1l. Guide and Enabler
B DO wmend
IV. Social Reformer and Mediator
DO D08 DB 08550
Codes: §&ex

Options :
| and IV only
B PVelevW\Y NSRS

Il and IIl only
5w 110005 I 57153

| and Il only
L 00 RGTEIN

[l and IV only

, Isodai» IV NGNS
4,
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Arrange the following in sequence in context of history of social work in West:
TF 5 BFE e TS cEerD I8 DOBSEI0ES BOA e SO
1550065 @508 )08
|. Poor laws

2E THETEN
Il. Appointment of overseers of the poor

2650 DG5S 50> AASTNE0
Ill. The Beveridge Report

O B3O OO

IV. Friendly visitors

)T 58 OB B0en

Codes: §Gen
Options :
Lw LTIV
L VL
s LIV,
o ML LV

Question Number : 96 Question Id : 51714411208 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
According to 2011 census, the literacy rate of India is
2011 2072y S50 05750, 23S @ 07d5ed DeX
Options :
62 percent
L% 62 3¢50

74 percent
5w 43¢50

80 percent
3 % 80 F°€40

82 percent
4 % 823°¢50
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The main focus of “Atal Pension Yojana” (APY) is on
29O DRI O3T3" (APY) 0308} |05 Soa) GOd

Options :
Retired persons from Quasi-government sector

I8 5-(35250¢5 ¢ B0KO0 DO DR DB FOED HBven

Workers of unorganised sector

Lo €93060E3ed S0 526500

Workers of organised sector
H050E3e5 S0K0eT D 85000

Ex-servicemen

L 235722 2Zven
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Practice of untouchability is abolished by the Indian Constitution under
the Article:

L90EITREHD0 B3NE), TG0 &) e88ESD 18085 B BAHDGBO:
Options :

1.9 17
2 %19

3. % 38

L 42
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What is/are the purpose(s) of agencies involved in the field of corrections?
ED2FE) S0K0ES aTFEND0TNZD) DB IO [DTIT2E0(e0) Dane3?

(i) Reformation

D00, B
(i)  Training
28 £
(iii)  Education
8
(iv)  Retribution
38,
Codes: §&Gew:
Options :
(i), (i), (iii) only

s (0, (1), (i) ST 53

(i), (i), (iv) only
L (@), (iv) NN

@), (i), (iii) and (iv)
3 s (i), (i), (iii) 5B (iv)

(i), (ii) only
(i), (i) 307 ehadd

4. %
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Sansad Adarsh Gram Yojana is implemented by
HODE e8850) e T3F230 T°5T° €90 OGO

Options :

Members of Parliament
. OO DN

Members of Legislative Assembly
IOV INTARN AV

Department of Adult Education
D323 ITT°E 2T 0

3. %



Village Panchayat
4% [0 HOTOSE
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Field work in social work aims at
2 ey
30288 2095 DD 35, ©F 50

|. Development of professional skills.
5)BNBD DTS €98)559 8.
Il. Integration of classroom learning with field practice.
5O TS TRETFS B6) 00 T30E) DEEGE.
I1l. Development of service mentality.
D a0 S0 €92)o39 D).
IV. Development of career orientation.
B8D 863 292)5598.
Code:
Options :

RN
L e LI
s LIV

L LIV
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The goal of social work is
redr7238 sy ©F 50
Options :
To reduce social tensions
raare2d G O8ederad evfotirEas

To provide services to all
L % @008 50 ©0BOHS0



To promote social justice

"3 8 O, |85 Yo 0 iE 8
3.¢

To service the elite

| T2 ST 06 DONCO
4,
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Arrange the following international years in the chronology of their observance
(ascending order):

808 @O0T 0N NONBITON 3 estrdo BE)  seEdnoss
29508 0B (3853789 |50 ):

|. International year of cooperatives
0BT DeTFS D0sIEH IS0
Il. International year of forests
L90HTBOD €9Ch:Ye> HOSEH B0
I1l. International year of youth
290HTION ORI 0I5B0
IV. International year of Human Rights Learning
0TS0 23736 ST @2F5X DS ISE0

Options :

Le LILNLTV
- NG D ]
;ox ML
4 = LILIV I
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Service rendered voluntarily by an individual or group to another individual or a
group is called as

2,8 558 B® D0 0FE 5588 B® DadTEFVE & 5NN @od0D
20630 260 0L
Options :



Professional Social Work
HBDBFD wrITe2E HA

Social Development Services
- PaaT228 92)299 0 ReEN

Social Service
3 @ 2728 T

Social Reform

L o228 D0 B
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Satyasodhak Samaj was founded by
DE5eFCIE D325 IO AFNOTIRDE0E
Options :

Dr. B.R. Ambedkar

¢ O D.e38. 2002355

Ramesh Bandari
. B0 D00

Jyotiba Phule
s v 850 'S

Anna Hazare
L% @) 0
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Arrange the following types of data in the order of their complexity:
8OO 8570 TEF a7¢3 D086 1300 9503 yolk:

l. Interval
)TN0
Il. Ratio
RN
I1l. Ordinal
&S00S
V. Nominal
SNVINV (o)

Options :

Le AL LIV

I, 1, I, 1V

2. %
5 VL L

IV, 11,11

4. %
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Which one of the following is not an ecological movement?
806 3e36S HT™IBE E5CI500 T DE?
Options :
Pani Panchayat
e T DoTroNS
Chipko
A

Bhoodan
3 ¢ BT

Pluck and Plant
208 @0& J0&
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Correct Marks : 2 Wrong Marks : 0

Assertion (A): Women's participation in Natural Resource Management is
essential for its success.

(DB (A) D723 S DB ST SeTHE 2FNar L0 T

223038 €9030030.

Reason (R): Awareness and empowerment of women will enhance their

participation.
5090 (R): QPEE) €963TaT0) sdOAN arQS O 376 23°1Ia §odas ),

SDHADDOE.

Codes:

86

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A).
L v (A) SDOAN(R)BOGT OB dda) s0OTN(R) @3&(;&)@1}% QBN )OI

Both (A) and (R) are wrong.
(A) DB (R) DOCAT €5a))).

2.8

(A) is correct, but (R) is wrong.
s x (A) OB, 5 (R) €63).

(A) is correct, but (R) is not the correct explanation of (A).
(A) HBID, 55 (A) AB0EY DB VGe (R) 5°C0.

4. %
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Which one of the following is not an objective of social policy in India?
806 ¢3S DO 2rBBHDIOS wrairesd D0 TBwE) ©F 50 TEN?

Options :
Equality
| & QTS 50

Social Justice
238 ©esado
®

2.

Inclusive Growth
DAEEH HHO

3. %



Population Growth
| o B 2SO
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Which of the following is not a social legislation?
80B 73 DA dre2E B0 °eN?

Options :

Protection of Civil Rights Act
S 537800 88 80 SO

Beggars Act
2P 5O

Right to Information Act
, OTTO 750y IR0

3.
Forest Conservation Act
. et oSS g tHO
4. ¢
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What is the theme of Prime Minister’'s High Level Committee popularly known as
Sachar Committee?
D0 EEST 192D TOES (DT SD0(E €565) €6 0w FaeS By A
Dae3?
Options :
Social, Economic and Educational status of Muslim Community in India.
2SSHDHOCS HANV0 D230 TBNEY Wreire3s,es08 HBAM DTS Ve,
1.v

Imbalances in development of different regions in the country.
- TH0SR DS aTroEed 98)5)DS” eodsneheses.



Impact of double taxation on domestic economy.

D20 08 555050520 ¢820S EFEINS (D2Td0.
3. 8

Social,Economic and Educational status of the Rajput Community of India.

L 2> OBTIF T 3D 0N T3NEY, Aredrre3d, @398 0O D Ves.
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Social Audit refers to

FAS BAE TR ATFONOE

Options :
Security and analysis of the working of any public utility visa- vis its
social relevance.
DT HEIE 00e3EES TBE), HA) TE), 2316565 OO DPNED T
o238 e 8 QO20HH0W.

1.v

Audit of all the work done by the social sector.
L % 238 BoN0 TR @) Hehve SAE.

Auditing of all the accounts of NGOs.

. NGO® Q) rEed eshe3oh.
3.

None of the above

4. ® @5‘5 5"0‘@,
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Which one of the following is not a Fundamental Right?
B0 ¢3S DO TGOS T*E0) 5°C0?
Options :
Right to Work
BIURSINE ISPV

Right to Constitutional Remedies

- 0°23°50(03 D807 P30



Right to Freedom of Religion
5 % o0 L) ST

Right to Equality
QTS 50 780,
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The oldest social security legislation in India is
2PSEHTFOS Q) $)ThS wTedre2E 2525¢8 w0

Options :

The Workmen's Compensation Act
5202500 D8 SO

1.¢

Provident Fund Act
TRTOE DO HEO

Maternity Benefit Act
(T3 [HAZre3ed THEO

3. 0% =

Payment of Gratuity Act
[rense3 50 TOO0NY)
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Which organisation among the following publishes the records of accidental
deaths and suicides in India?
2806 73S &) HOD 2rSHTFOT |DATIIFER) sDBETEN S0BAIN
€36%255°¢550) B3O (HTNONOE?
Options :
National Commission of Women
- 230D NPT EAS

Ministry of Social Justice and Empowerment
L % Wrre3E A0 0O QS G HO(ES S TR



National Crime Records Bureau
L 3D B 05°Q) a8

Census of India

L x OSTE Borey Keadd
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Juvenile Justice (Care and Protection) Act was introduced in
P RO 200 (30 @08 |FBER) 08 19633 0L22B0H

Options :

., 2001
, % 2002

2003

3.%

2004
4. %
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Match the List — | with List — Il. Choose the correct answer from the codes

given below:

EH @5 5AS DB FE DOTHE %0 o erd)er — | 27T

0TS IO V0B — I
List—1
e - |
Social Reform
Q0D DO 569

List -1l

2o )e - |
Social Reformers
D0 D0 Gen

(@) Widow Remarriage (i) Raja Ram Mohan Roy

D08 )OO £aeT°0 07 ") aare 00D
(b) Sarvodaya (i) K.C. Sen
HE 0D 3.2. D
(¢)  Abolition of Child Marriage (i) Ishwar Chandra Vidya Sagar
2IOS e e G &3 £D 5085 D°g ei0
(d)  Sati (iv) M.K. Gandhi
563 M.K. P&
(v) Dayanand Saraswati
AASTH0E DB 53
Codes:
g&en:
Options :

- a(i), br(ii), c-(ii), d-(iv)
(V). b(ii), (i), d- (i)

s a(V), b-(iv).c-(iii), d-(i)

_a(iv), b (i), c~(i), d(i)
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Who coined the term conjugal family?
T00DEHS OEN0I0 B DT, eI BT NOTD?

Options :

William J. Goode
DA J. i3

1.¢



Murdock
TR

Cooper
50700
3. %

Talkot Parsons
eSS J°BIN)
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Match the List — | with List — Il. Choose the correct answer from the codes
given below: _
2372)E - | O3NE), 0T 27T - Il @OTOS DO YO&:

List — | List — I
2 )es — | exe)es -
(a) Patrilocal (i) Living at brides residence
DEBITI0 5069 A0S Dy &
(b) Matrilocal (il) Having own set up
NV RTINS roeh Jo™)En DA SO0
(c) Avanculocal (i) Living at bridegroom’s residence
£9550T0SES SBE DT DN &
(d) Neolocal (iv) Living at brides maternal uncle’s residence |
DTBrSES S5CHE HATNTE AFNOS” QSN &
Codes:
gGew:
Options :

a-(iii), b-(i), c~(iv), d-(ii)

1.¢

, w i), be(ii), c-(iv), d-(i)
a-(iii), b-(i), c~(i), d-(iv)

3. %

a-(iv), b-(iii), c-(ii), d-(i)
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One of the following is not the reason for single parent families:
2088 DBOE 50en02rerdy 8od ¢3S 2,563 2560 52

Options :

Death

Divorce
DTTBOEN
2. #®

Desertion
- eI AR WTe

Transfer

AN
4.
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Probation services entail —
HDEFOS N TRE D000

Options :

Leniency in correctional services
BTN DNIS s

Institutional services
HOPEES SeN
2. % =

Community based treatment of offenders

DA HE OO e8TO6d DB
3.

Letting off of offender
E9DT A DG B0
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Which of the following is not an intervention method in the correctional setting?

806 ¢3S BVeren VoS’ £ HOS 52%0?

Options :

Group work and group therapy
L7 387, SO0 11770 B

Social case work
228 T DA

Entertaining guests
29330 @HA0THE0

Family-centred counselling
B0€002>-30|HB e T )oh

4%
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Consider the following statements and select your answer according to codes
below:

20A V0O HBK30D, BN FEE (DTG0 & JATTER)
DOTNTOR:

Assertion (A): Social defence is a broad concept that aims at defending society
against crime by re-integrating the offenders back into the society.

19535 (A): oaar238 B8 62 900 DEWEID B8 D330 '8 BB )0
" S0° ROPOEY H5BDEOMT D)) 8803 ©F 508
FALSATETA N TN

Reason (R): Social defence attempts to prevent the emergence of criminogenic
situations through preventive programmes.

52080 (R): raire3d B8 £ Aardea S8 750" DAY Oed HBVEBE
ST, ASOOTIETRE (DO NOE.

Options :
Both (A) and (R) are true.
(A) 0BG (R) BOCAT D230

1.v¥



Both (A) and (R) are not true.
i (A) DBA (R) DO V230 570,

2.

(A) is true and (R) is false.
(A) V230 s0BCAW (R) €55)).

3. %

(A) is false and (R) is true.

4w (A) &) BT (R) d230.
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Which one of the following is not a challenge of managing urbanization?
HEBEB DB 37006 8oB 73S A6 HeTen 5°CN?

Options :

Sustaining the momentum of economic growth.
e30% 598 IR, TR0 S0.

Addressing urban poverty.
DI B HONY,B0TIB0.

Energizing cities to become engines of national development.
B8 R0V S8 Siforered 485080 TAHso.

3. %

Separating rural from urban areas.
DEIED (TOTTE DO |TTADED (BTPOETE D DANCO.

4. ¢
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Match the List — | with List — Il. Choose the correct answer from the codes
given below:

&3 (B0B 7¢3 DB o k!
List — | List—II
e — | e e -
(a) Enuresis (i)  Low achievements
DRTETON 5500 a)23CITEN
(b)  School dropout (i)  Threatening reality
0 S 1T BOBOT NS
(c)  Aversion to food (iii) Poor mother child relationship
2355750 D DB§ =226 688 )G HoD0H0
(d) Day dreaming (iv) Insecurity
HIES erexny Ed¢0 €92 C5eh
Codes:
Options :
a-(iii), b-(ii), c-(iv), d-(i)
1. ®

a-(iv), b-(i), c-(iii), d-(ii)
2.

a-(ii), b-(iii), c-(i), d-(iv)

3. &

4w (i), b-(iv), (i), d-(iii)

Question Number : 126 Question Id : 51714411238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Match the List — | with List — Il. Choose the correct answer from the codes
given below:

808 ¢3Q DT O&:
List — | List — Il
e - | 2redE — ||
(a) Home visit (i)  Tool of learning and teaching
BoeT B0 92500 0O 259 A0
(b) Face sheet (i)  Evaluation
0 e sarersoddo
(c) Process Record (iii) Holistic assessment
R 852D 2O VT R0
(d) Evaluative summary (iv) Intake
007508 PCTOF0 BT B0
Codes:
g&en:
Options :
a-(iv), b-(iii), c-(ii), d-(i)
1. %
a-(i), b-(i), c-(iii), d-(iv)
2. %
. a-(ii), b-(i), c-(iv), d-(iii)
a-(ii), b-(iv), c-(i), d-(ii)
4.9
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Match the List — | with List = Il. Choose

given below:
808 T°¢3Q) DB HYO&:
List — |
e )e - |
(a) Parole (i)
2D8S
(b)  Ticketless travel (ii)
3365 B (DHATE0
(c) Securing bail (iii)
23000 oSG0
(d)  Vocational training (iv)
59 B 2
(v)
Codes:
gGen:
Options :
L a-(iii), b-(iv), c-(i), d-(ii)
a-(i), b-(ii), c-(v), d-(iv)
2. #
- a-(iv), b-(iii), c-(i), d-(v)
L% a-(v), b-(i), c-(iii), d-(i)
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the correct answer from the codes

List — I

ere)e - |l
Dependence on court
A 00

Rehabilitation

o)D" D0

Attending a family function

B0EN02) 5235860708 53°2380 57690
Petty offence

D) ™SO

Institutional services
QOTHEd eI

The hypothesis by which the researcher not only asserts that the variables will be
found to be related, but also predicts the direction of their relationship is called

HBFEBH SOAH20S B0 HO0EODIIT HOO0TIIBEEI T80, &5°¢3
D020 TRNFY EF D @OIT® B DBEEI YD a)edR) DEVAD

Options :



one tailed

2,8 &% HOE)S
LV

two tailed
, x DOC ¥ HOZ)S

null hypothesis
EVRN P TSI I D RIS

3.8

none of the above

a0 750

4.%
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Match the List — | with List — Il. Choose the correct answer from the codes

given below:

80& 3°€3Q) DO YOG:

List — | (Event) List — Il (Date of Observance)

e — | (D) %0) ere)e — |l (32556 BA)

a. World Anti-Tobacco Day i. Jan12
100007 EPTTE0 35308 ANO 2309598 12

b. National Youth Day i. May 31
2305 0892385 OS850 = 31

c International Youth Day iii: Oct12
90577305 TINI23) OS50 e85 12

d. World Girl Child Day iv. Aug12
199079 275 OS50 (i 12

Codes:

gGen:

Options :

- a-ii, b-i, cHii, d-iv

2.\‘fa-u, b-i, c-iv, d-iii

s al, beil, i, d-iv

a-iii, b-ii, c-l, d-iv
4.%
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The National Commission for Women was established in the year
230D ST EAS &) D05 IB0ES F0IGOE

Options :

1957

1. %

1986

2. %

_ 2001
3. %

1992
4.
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Kaka Kalelkar was associated with
550 §830).0 AAS D000 EOR &) &

Options :
Scheduled Caste Commission
226875 Boerer EDNAS

Scheduled Tribe Commission
228759 [ TS AR

2.%

Backward Classes Commission
33e0820535 50550 ool

3.9

Minorities Commission
AR SAVES

4%
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The method by which the relative worth of Jobs in an organisation is determined
is called as

DOV &E ST . DENHXD AFONOT DDA DR DIENTS

Options :

Job Description
| O DSOS

Job Evaluation
L x GO Arersoddo

Job Specification
&858 DVFOTHE

Job Analysis
&5 D3N

4.
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Arrange the following Acts in order in which they were enacted. Use the code given
below:

806 HEFOL ErFOAODN 1500 73R 9508 )0B. 180 ad ) F&
e O3rA0TH05%s:

(i)  The ESI Act
ESI 580

(ii) The Provident Fund Act
TNBOE oG SO

(i)  The Maternity Benefit Act
173 [DTIr23ed WO

(iv)  Workmen's Compensation Act
52802500 DO HRO

Codes:

g&en:

Options :

L ATV



ioivoit il
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Cognitive needs’ of human beings are the needs
DTN 22T €9:3:0TEN 2OCNBD €955 B NI ETON
Options :

to develop abilities
PN TEED OO0 IGO0

for symmetry, order and beauty
087068, 1Es00 DB 00 §Ho

for security and freedom from attack
25185¢5 sDBO TG 0B ) o

to know, to understand and to explore

> BENNTI0, B0 TNFHCHO0 HOCIN B 200
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‘Learned helplessness’ is a concept based on
DB DD ADES DA B2 STHNGRD 2369
Options :

Unconditional positive learning

. DG SR BT 9237500
1.

Social learning theory

228 @925°50 050
2. ¢



Hypothetical constructs
5 5 C8O"BAD QTTIETEN

Psychoanalytic approach
4 % PSS DFNED DGO
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Match the List — I with List — Il. Choose the correct answer from the codes
given below:
80 a¢3 HONF O%:
List — | List — I
2e)Em — | 2)E - ||
a. Social investigation report i. Medical social work
7228 DOTES ASOE FE55 7238 HA
b. Discharge planning li. Child guidance centre
6530 (DeTrE 2O 53088 300
c. Workmen’'s compensation iii. Probation
5262500 HOFS0 DO
d. Behavioural problems iv. Social security
120307 daddcdgen aradre3d 25(C0eh
Codes:
g&en:
Options :
a-iii, b-i, c-iv, dii
1.v
a-i, b-iv, c-i, d-iii
2. %
5 % a-iv, b-iii, c-ii, d-i
a-i, b-ii, cHii, d-iv
4. ®
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Which one of the following is not necessary for project formulation?
BB TSNS §00 808 ¢35 D& @30S0 SEn?

Options :

Setting objectives and targets
575030 sDOCIM DTN AVFOTIHO

— S 2

1. %

Design of strategies
- o500 B8

Identification of potential obstacles
PR N(GTANIY 29303000 M0G0

Documentation
. 380500 TN

4.
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FCRA stands for
FCRA &0

Options :

Foreign Contribution (Rules) Act
DBP DTSB0 (ATDSTEN) THEO

1. %

Foreign Contribution (Regulation) Act
y DB TS0 (AAHO(ehER) w0

2 N [~]

Federal Contribution (Regulation) Act.
. SO B08320575 (NA0(e5£d) 0.

3.

None of the above
aia) 55

4.%
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Match items in List — | with List — Il and choose the correct answer from the codes
given below:
2 — |8 27d)e — 11570 @907 DOF YOG DB B @6 520G

860 0B IBD DAFETR), 0TNT0A:

List — | (Method) List — Il (Technique)
2@ — | (DOed) 2)es — || (T8 §)
a. Social case work I Funnelling
Pear7228 B DA Dy Ooh
b. Social group work il. Gherao
07238 RIS T
2. Community organisation iii.  Person situation configuration
E50750e3 3BT EAS 3558 HBVS 52 IIVAD
d. Social action V. Norming and storming
o238 w8 PO aBC AT
Codes:
g'&en:
Options :
a-ii, b-iv, cHii, d-i
1. %

a-iii, b-iv, c-, d-ii

2.

a-i, b-iii, c-iv, d-i
3. &

a-iv, b-ii, c-ii, d-i
4. &

Question Number : 140 Question Id : 51714411252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
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Which one of the following is not a treatment group?
B06 36T DA DEHY HANTETO 5207

Options :
Growth group
. DY@ eTWTO

Socialisation group
rOSNEEGE HeNTHTO

2. %



Educational group
MRS A ESINNWA e
Study team
500N 2080

4.
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Match the List — | with List — Il. Choose the correct answer from the codes
given below:
e — 1570 0T AT — IS5 oS HOFI0G HOGH
A QLB FEE DO OB DT, DOTNE 0

List — | (Author) List — Il (Method/approach)
2z e — | (B500e8) 2322)es — || (DDEIDTTH0)
a. Octavia Hill i Problem solving approach
SENASF oS 5005 HOXYE DGredo
b. Murry G. Ross ii. Social group work
Ao 2. o0 307238 DT Q)
. H.H. Perlman ii. Community organisation
H.H. 208579 55055 ES Hod
d. Gisela Konopka V. Housing reforms
ARy S 07, SR00 H0HBen
Codes:
gGen:
Options :
a-ii, b-iii, c-iv, d-i
1. ®

- a-ii, b-iv, c-, dHi

a-iv, b-ii, c-, d-ii
3.

a-i, b-ii, cHii, d-iv
4.8

Question Number : 142 Question Id : 51714411254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Objectivity in research means the willingness and ability to examine evidence
dispassionately is called

SBEST HBTEBXS” @O FFLD AT LTHTEOT HOBOOT sdweed
SOOI PENTER), e DN D

Options :

espisrit de corps of the scientific method
FL RO DD ABWE) DO & 5°6))

1. ®

cours de philosophic of the scientific method
FL 0D DO TEY, eheh a7 O T yen

la carriere of the scientific method
s w FIROD HOS Ty, 5°50aND

sine qua non of the scientific method
0E3DT DOed 3¢

4.
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In participatory development, people’s participation is
2PN 2505 €98)5)DET, 19230 2RI 050 P BOENOE

Options :
an end, not just a means to development
2,8 SN0, ©92)5HB8 AP0 357 Hadd 57D

1. ®

only a means to development
€92)559 D8 2,8 PGS0 STt

neither an end nor a means to development
292)359 D8 A0 BT® N0 52N

only a means not an end to development
292)39) D8 90650 ¢
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If the client persists in verbal attacks, the technique used is
Z000E ST TS FITAB, SHBTA0D DO

Options :

Confrontation
S0QeD

1. ®

Scanning
. eplell

2. &

Fogging
arfon

3.4

Explaining
D800

4.%
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‘Power’ is gained whereas ‘authority’ is
38 ©2) N0 oS 950
Options :

acquired
| & SFOOOH

possessed
8

imposed
DEOOTIDB0E

nested

Ky BE33S

4.
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Read the passage given below and answer the following questions as per the
understanding of the passage (Question Nos.146 to 150)

1BOES Q9 5293 7025 @ IO 0BG (DBBEI0 B3NE), 0T (D500 180D
1099 80 QG0 @) S0G ((003) 0. 146008 150 )

History has led to vast inequalities, leaving almost three-fourths of the world's
people living in less-developed countries and one fifth below the poverty line. The long-
term impact of past industrialization, exploitation and environmental damage cannot be
wished away. Itis only right that development in this new century be even more conscious
of its long-term impact. The problems are complex and the choices difficult. Our common
future can only be achieved with a better understanding of our common concerns and
shared responsibilities.

Poverty and a degraded environment are closely inter-related, especially where
people depend for their livelihoods primarily on the natural resource base of their
immediate environment. Restoring natural systems and improving natural resource
management practices at the grassroots level are central to a strategy to eliminate
poverty.

The survival needs of the poor force them to continue to degrade an already
degraded environment. Removal of poverty is therefore a prerequisite for the protection
of the environment. Poverty magnifies the problem of hunger and malnutrition. The
problem is further compounded by the inequitable access of the poor to the food that is
available. It is therefore necessary to strengthen the public distribution system to
overcome this inequity. Diversion of common and marginal lands to ‘economically useful
purposes’ deprives the poor of a resource base which has traditionally met many of their
sustenance needs.

Literacy and a basic education are essential for enabling the poor to access the
benefits offered by development initiatives and market opportunities. Basic education is
therefore a precondition for sustainable development. A sizeable proportion (about 60
percent according to some estimates) of the population is not integrated into the market
economy. Ensuring the security of their livelihoods is an imperative for sustainable
development.



In several areas, desirable limits and standards for consumption need to be
established and applied through appropriate mechanisms including education, incentives
and legislation.

Several traditional practices that are sustainable and environment friendly continue to be
a regular part of the lives of people in developing countries. It is therefore important to
evaluate and make development decisions which structurally lead to a more sustainable
society.

H0(e5 DTGNS ONSTFSSOB TEBV0O, DN0VOSR T TS S50k
008 (DN 550)09-298)350 ToOD BFOS Do NT=Y ) DO 56553 5068 $HOE
oOIC55 BB M Smm) . fieh a8 08EG, BN HBCID DTG SRO TZNE)
BYOE (Herard) SFoVBSw. & 5 J7700S” @S0 T HYSOE (D50 HBOD
B0 DTS SOHI0 IDIA. HNDEN DoSATAD HBA DoNEeN EN0. S
503026 S0EFIEN DOTIN ATHI DS 2°C3565E) HOOD) DOD LISTTISE STEHaD oD
E5o026 230a1 5D ArFOOTIITI).

DEBE0 BN §BoDS DTG0 SIB HoDOCo EOR GoLrow, (HBLE0D
DBED 5D BIATrE 00 IDTS0T 78 S8 DUESG0 By DB SSBHO
TGO SIS GOETR). D2 598:5003e8) HSEBDB0LIH0 B D T oS’
D572 HSBO DB 55T DHBDD ADHIBDB0 DGO AEOOT syserocsS
(DTPROIORD.

250 0 @SNTEeN @DIE3T § B0 TEHGTR) § BoNBIHETAE FED
2203050650 T ow. STE3 HT5IGED DABE £250 DEBE AETed 830D, DEBE0 esEd)
LBAD PATHE SN0 DNI5D DO DB0H. DEed ©Dod eFsos
EDSTHEHEN 0CLTENSE TRHGB0S Hd: 0806 BOOHIS0H. ochse S
203795 AEDOTIOCHEL |HDBPI0NES 5530 D300 BATFE 13 @IIE0 S0b.
T EEd sHOAD G0 LNy 'eFOMT TP MIETHS (DTS O HPodcto
SO DEOB oA EoT 8 @RS BIS O 9S51T D BB S8 ‘soréo
B0 Deh0d.

©2)s5) B 5°E 5837 NOA AI82E] @955 OO0 (DAZFET @D CEN
SODOCHE ©ETHI5ed DO (RN D5 5380, 0N VOIS €@02)SyH8
PGS DESE 2.8 S0 AGeh. BarereS Q0N DA () WOIT™ (HSS0
05505 60 F°e50) 377528 €305 5955065 DOB0 SECD. 8 283 SO 25(¢5eb EE) 0H¢s0
VG @0DH5) D8 @33¥550. S SomrereT, DS, |SFT )TN HOAN HEOS 5 S
ODOEFOTS TP50° DAL PO ID DOWEEN DB [DAITETOD DTZYED
DATE) DA SBoNEATE).

DETS HBA DTIBD e DBTFOTS DY ~rO(DTTAH HPehew
©92)99 & TOCDADY Sres 102 B 2.8 (8030 gxifor S
DT 0N. 90NN AT ET 50T OO %3633&: DITTDE O ETANATA
DEASTEID TETL0ES0 TANCAO BN SESCH0 Tre 3050,
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How can we achieve our common future in a sustainable development
framework?

VEDS @8)59E TIEIOS” 60 €IS DATERND DT Q0TI ?
(1) Understanding the long term impact of past industrialization.
1568 o8| B0 EE S TE) AO5OE 152 @80 TNENB0.
(ii) Preventing environmental damage.
NDTEIOED o)) B0 TICG0.
(iif) Understanding common concerns and shared responsibilities.
LG SOEBDEN OGN 2T HRT LS 275502 @980 TDNE NGB0
Options :
(i) and (ii) are correct
(1) 20O (i) OB

(i) and (iii) are correct
(i) s0B AN (i) OB

(ili) and (i) are correct
(iii) oA (i) OB )

3. %

(1), (i1) and (iii) are correct
(i), (i) 0BG (iii) QB O
4.9
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What are central to a strategy to eliminate poverty and thereby ensuring
sustainable development?

%6365*%‘135% QEFPIOONE@EIE SDBCID I ST DB €92)59) D8 57Pad @3 )
75570 (DGR ae3?
Options :

Industrialization
. TOELEESE

L.

Exploitation of National Resources
L 5 Z0D HIDE Bd

Restoring Natural Systems

[ oz 055390 8 DBOTIBO
3.



Encouraging Market Economy
SrByE0 @308 5559003 (865 Y030
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How does the survival needs of poor people affect sustainable development?
700 (D230 $0ANNEH €955 TP DA ©92)3ER) T (RTDEHO DT ON?
Options :
Diversion of common and marginal lands to economically useful
purposes.
GO s0BA Garr0eh 23570 Q50T BB HIE SR
| x IDTrBETOB HPoIS0.

(22 ]

Poverty magnifies the problem of hunger and malnutrition.

25850 €356 SHBAM FASHFS S0 DeNDEAD DOTVEROA.
2. %

Continue to degraded the already degraded environment
s v BD)E3T BEB0DS HTHOETR) 9EEGEI0 BANHO TSFNOB0G

None of the above
2R3 55

Question Number : 149 Question Id : 51714411262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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What are essentials for enabling the poor to access the benefits offered by development
initiatives and market opportunities?
€92)639 D 5°G5(Eed0PE0 SBA5N SIP0LED ©9:95°FE) T ST N OAOT
(DEIFBT D POTOCNZY €963 dade3?

(1) Ensuring security of livelihoods
29508 25(¢5¢b §6) 03¢0
(ii) Improving literacy and basic education
298 70565 DO [T A0S IS BMDNGEIE0
(iii) Encouraging unsustainable patterns of consumption
QEEEEIR) DTN DI (5 )20 0
(iv)  Increasing purchasing power
Fofien 450 odo

Options :



(i), (ii) and (iii) are correct
1% i), (i) 08 (i) OB d)

(i), (ii) and (iv) are correct
. (i), (i) o208 (iv) T dad
2.

(i), (iii) and (iv) are correct
(ii), (iii) e208CW (iv) OB )

3. ®

(iii), (iv) and (i) are correct
(iii), (iv) 0BT (i) OB d)

4. %
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What needs to be encouraged to ensure sustainable development?
DES @O AT*BOIERE D (865 Yoo E)?

Options :

Market driven technology
306 e35°0eh r0Zedsed

1. ®

Environment friendly traditional practices

. DTE538a @9c0ET"E) DONTTA DN
2.

Consumption oriented economy
DV B85r0ed &80F H5ed

3. %

All the above
5,



